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Puzzle 1 (Medium, difficulty rating 0.48)

| |

| <t|o]o|—[~|o|m|w]  2|o|m|~|o|—|o]~|x|w] _|w|o| ||| ©]w|m Sl <t || m]o|—|]v|o|o
o 2 o

w(o|m|s|Nfofjo~—] Ho|o|s|w|o|~|—[o|m]  S|o|N~s|m|w]o|o[—]  ¥o|o[r~]m|wo|w]o]|—|<
% o %

~|—|o]m|o|w|< o] o Clo|—|o|a|om|st|o|~|o] Sl —[w||o|o|o|—|< “|wo|o| o] <t || oo~
2] e 2]

o(w|t|o|~|(o]—|ofa]  Fst|o|o|o|afmlw]—[~] o |ofafm|w| <t ~|—|© 3lo|m|w]—[<|—]o[|o
E 3 E

©|~|o|N|w|—fmio|st]  Bl—|©fl-|o|ofmias] ol (afm|ojo]  TlofSolaufofm]—|~|©
g S g

—|o|a|o|st|m—[w|o] S| |m]<t|w|—]|o]|w©|wo S| —|o|o|ol s Nfw] Sl ||| o] ofw| s o™
o & o
[} © [}

o|m|]—|O|o|N| |~ /M\851942_!36 wlN=|mjof<t—]ojo|o /M\35182_{469
N ™ <t

< |©o|—|wo|m|cfoo|—|o o|lm|=|©]—|~|w]o|o|a] o]—|©|o|w]|o| ||| o|o|©|o]—|m| |||
N N N

o=l sfojo|m] - Sl-|offmiolol <o —]  Plo|s|o|ofajmf—(o|~] Sl <w|o) ©fejm|—










